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Clean Al: On Al data centres and energy demand

The International Monetary Fund’s report that pointed to the likelihood of the economic gains of
Artificial Intelligence (Al) applications outweighing the environmental costs of the increased energy
demand that Al data centres will require is reassuring. It underscores that this transformational
technology is not fundamentally at odds with the global imperative to pursue sustainable growth
strategies across the board. Countries that are better prepared with renewable energy generation
are bound to see a lower social and environmental cost to pursuing their Al ambitions. India’s Al
infrastructure — at least the part of it that the government is indirectly funding through the IndiaAl
Mission — does not rise to the level of weighing at a macro level on the nation’s energy mix. Still, the
need for pursuing renewables specifically for Al is necessary to follow. This is already in a sense the
government’s approach to the issue, outlined at the Al Action Summit in Paris earlier this year. While
Al is not the sole industry where a push for renewable energy and sustainable practices is important,
the sector nevertheless offers itself up for two main reasons. The first is the sheer volume of
electricity that it is set to consume. The IMF’s report indicates that in the United States — the single
largest home for Al computing capacity globally — “Al expansion alone could increase electricity
prices by up to 9 percent, adding to price pressures coming from many other sources”. As such,
renewable energy could play a major role in cushioning against a multifold rise in emissions that
conventional energy sources would likely entail. The second is that data centres lend themselves
uniquely to captive renewable infrastructure. Some Indian firms have already made moves to
purchase renewable energy, and the hundreds of acres that data centres occupy are ripe for
complementing equipment with solar cells. Nuclear energy may also turn out to be a welcome
contribution: small modular reactors at emerging data centre clusters, in conjunction with other
renewable sources, would avert a sizeable quantity of emissions.

Electricity use is not the only environmental footprint that the Al age will leave behind — the
technology requires large-scale mining of minerals and water use, and produces effluents in the
manufacturing of the electronics supply chain. As electronics manufacturing is another space that
India aspires to grow in, these opportunities must be pursued in this area too. India’s net zero target
for 2070 will demand a scaling down of conventional sources of emissions, and managing the rise of

industries that are poised to expand their share of global energy consumption. \[Practice Exercise]|

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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Vocabulary

International Monetary Fund (IMF) (noun)
— a global organization of 190 member
countries working to foster global
monetary cooperation, secure financial
stability, facilitate international trade, and
promote high employment and sustainable

economic growth Hﬂﬁ'@'ﬂ'ﬂ?ﬂm

Point to (phrasal verb) — indicate, suggest,
show, highlight, signal Tehdl ST

The likelihood of (phrase) — probability of,
chance of, possibility of, prospect of, odds

of GHATIAT

Outweigh (verb) — surpass, exceed,
overshadow, dominate, overbalance

3Tereh AgcaquT gleil

Reassuring (adjective) — comforting,
encouraging, soothing, heartening,

supportive JTRIEA e aTell

Underscore (verb) —emphasize, highlight,

stress, underline, accentuate SR tall

At odds with (phrase) — in conflict with,
against, contradictory to, in opposition to,

inconsistent with TaRTer & gleTr

Imperative (noun) — necessity,
requirement, obligation, essential, priority

AcIATARIh AT

Pursue (verb) — follow, seek, strive for,

chase, aim for TITH hIAT / GrST el

10.

13

14.

15.

16.

17.

18.

19.

Sustainable (adjective) — eco-friendly,
renewable, enduring, viable,

environmentally sound f¢&hT3

. Across the board (phrase) — universally,

comprehensively, everywhere, throughout,

entirely AT 9 F

. Renewable energy (noun) — energy

derived from natural sources that are
replenished at a higher rate than they are
consumed

. Weigh (at) (verb) — impact, affect,

influence, burden, have effect on YHTT

STefedT

Macro (adjective) — large-scale, broad,

overall, comprehensive, global cdT9h /

AT

Outline (verb) — describe, sketch,
summarize, detail, draft WW

T

Sole (adjective) — only, single, exclusive,

solitary, unique UehHTT

Nevertheless (adverb) — however,

nonetheless, even so, yet, still e ot

Sheer (adjective) — absolute, pure,

complete, utter, total EI'\U‘f/ Iafees

Set (to) (verb) — ready to, about to,
scheduled to, prepared to, destined to

IR gler
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Cushion (verb) — to reduce the unpleasant

effect of something fordT & 37T9T gHTT =T
e AT

Multifold (adjective) — multiple, numerous,

many, manifold, various a'Té'UIFIT

Emission (noun) — discharge, release,

outflow, pollution, expulsion 3cotel

Conventional (adjective) — traditional,
standard, customary, regular, orthodox

IRIRS
Entail (verb) — involve, require,
necessitate, call for, demand JTdIh

CEIGI

Lend (verb) — contribute, provide, offer,

give, bestow T

Captive renewable infrastructure (noun) —
a facility that provides a localised source of
power to an energy user

Ripe (adjective) — ready, prepared, mature,
favorable, suitable ﬁm/w

Complement (verb) — enhance, complete,

supplement, match, improve I SelalT

Turn out to be (phrase) — prove to be,
emerge as, end up being, result in being,

become HTTS 8lAT

In conjunction with (phrase) — together
with, along with, combined with, in

31.

32.

33.

34.

35.

36.

37.

38.

39.

partnership with, jointly with & a1y
IGEETS

Avert (verb) — prevent, avoid, ward off,

dodge, forestall fIEhT-IT/ Cloldl

Footprint (noun) — impact, effect, mark,

trace, imprint AT / &9

Large-scale (adjective) — extensive,

massive, broad, widespread, huge a%*

YA 9T

Effluent (noun) — waste water, outflow,

discharge, sewage, pollutants 9dTg

Space (noun) —field, sector, area, domain,
industry av

Aspire (verb) — aim, strive, desire, seek,

long for 3TTSRTETT IG=AT

Net zero target (noun) — it refers to the
balance between the amount of
greenhouse gas (GHG) that's produced and
the amount that's removed from the
atmosphere.

Scaling down (noun) — reduction,
decrease, downsizing, shrinking,

minimization YcTaT

Poise (to) (verb) — ready to, prepare to, set

to, positioned to, on the verge of ISEIES

glet
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10.
11.

12.

13.

14.

15.

Summary of the Editorial
The IMF report reassures that Al’s economic benefits could outweigh the environmental
costs from increased energy demands.
The report suggests that Al growth can be aligned with sustainable development goals.
Countries with strong renewable energy capacity will experience lower environmental
costs from Al expansion.
India’s Al infrastructure, particularly government-supported efforts like the IndiaAl
Mission, currently has a limited impact on the overall energy mix.
However, there is a clear need for integrating renewable energy specifically for Al growth.
India has already indicated support for sustainable Al development, including at the Al
Action Summit in Paris.
Al is not the only industry needing sustainability efforts, but it is crucial because of its
massive electricity demand.
The IMF warns that in the United States, Al expansion alone could raise electricity prices
by up to 9%.
Without renewable integration, Al’s energy needs could significantly increase emissions
from conventional energy sources.
Renewable energy can cushion the environmental impact of Al’s rapid growth.
Data centres are particularly suited to building captive renewable infrastructure like solar
installations.
Some Indian firms have already started purchasing renewable energy for their data centre
operations.
Nuclear energy, especially small modular reactors, could complement renewables and
help reduce emissions at Al hubs.
Besides electricity, Al’'s environmental impact includes mineral mining, heavy water use,
and industrial effluents from electronics manufacturing.
Achieving India’s 2070 net zero target will require careful management of Al's growth and
a shift away from conventional emission sources.
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Practice Exercise: SSC Pattern Based
1. Why is renewable energy important for Al data centres, according to the passage?
A. It reduces the cost of building data centres.
B. It helps in minimizing emissions from increased electricity consumption.
C. It makes Al applications more profitable.
D. It speeds up Al application development.
2. What additional environmental impacts of Al development are mentioned besides electricity
use?
A. Large-scale mining of minerals and water use.
B. Increase in fossil fuel extraction.
C. Increase in space debris.
D. Deforestation for Al infrastructure.
3. According to the IMF report, by how much could Al expansion alone potentially increase
electricity prices in the United States?
A. 5%
B. 7%
C. 9%
D. 11%
4. What is the tone of the passage?
A. Alarmist
B. Optimistic
C. Indifferent
D. Critical
5. What is the main theme of the passage?
A. The dangers of Al on economic stability
B. India's failure to invest in Al infrastructure
C. Balancing Al growth with sustainable energy needs
D. The future dominance of nuclear energy in India

6. Select the most appropriate option to fill in the blank.
The manager swiftly overtook him, effortlessly past the skinny Englishman, with

a practiced ease.
A. sliding
B. dawdling
C. kindling
D. rendering
7. Select the option that rectifies the spelling error in the following sentence.
The poet was able to compose the long poem in a tranquill atmosphere.
A. trankwil
B. tranquil
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C. trancuel
D. tranquel
8. Select the most appropriate meaning of the underlined phrase.
Jared deliberately set fire to a property and got arrested by the police.

A. Dystrophy
B. Dementia
C. Insomnia
D. Arson
9. Select the most appropriate ANTONYM of the underlined word in the given sentence.
He is habituated to using words spoken with an unusual amount of venom when it comes to
his in-laws.
A. ambiguousness
B. benevolence
C. irony
D. satire
10. The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.
The new/ smartphone is/absolutely best than/ the latest model
A. smartphone is
B. absolutely best than
C. the latest model
D. the new
11. The following sentence has been divided into parts. One of them may contain an error. Select
the part that contains the error from the given options. If you don’t find any error, mark ‘No
error’ as your answetr.
He will be / waiting for me when / | reached his home.

A. noerror
B. I|reaches his home.
C. He will be

D. waiting for me when
12. Select the most appropriate option to fill in the blanks.
Whenever addressed, she comes __ and performs her _____in a great way.
A. fourth, role
B. forth, role
C. forth, roll
D. fourth, roll
13. Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required’.
The keys were lies on the table.

A. lying on the table
B. lie on the table
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14.

15.

16.

17.

18.

19.

C. No substitution required

D. Lay on the table

The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.

Manish has being applying / for colleges / ever since he passed / his entrance test in March

A. his entrance test in March

B. manish has being applying

C. ever since he passed

D. for colleges

Select the INCORRECTLY spelt word.

A. Celebrate
B. Entertenment
C. Outburst

D. Conscious

Select the most appropriate option to fill in the blank.

The pencil has a tip made of

A. steal

B. led

C. lewd

D. lead

Select the most appropriate option to fill in the blank.

The success and achievements of a school mostly on its experience and
resourcefulness.

A. credit

B. achieve

C. depend

D. begin

Based on the situation in the given sentence, select the most appropriate idiom for the
underlined segment.

There are several people who find themselves a dominating person in a group

A. A man of his words

B. Cock of the walk

C. A white elephant

D. A bone of contention

Select the most appropriate degree of comparison to fill in the blank.
The underground railway network, ‘The Tube’ in London is said to be transport in
London.

A. the expensive

B. more expensive

C. the most expensive

D. expensive
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20. Select the most appropriate ANTONYM of the given word.
Jeopardy
A. mighty
B. safety
C. strict
D. silence
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

He knew everyone on the island. Whenever his car stopped, half a dozen voices 1
shout out his name. Policemen, agricultural labourers of low social status and priests waved
and smiled 2 he passed; everyone greeted him as a brother. They respected his
honesty, and belligerence, and above all, they adored his typically Greek scorn and fearlessness
when dealing withany _ 3 of Governmental red tape. On arrival, two of our cases
containing linen and other things had been 4 by the Customs on the curious
ground that they were merchandise. So, when we moved out to the villa and the problem of
bed linen arose, Mother told Spiro 5 our cases in the Customs and asked for his
advice.

21. Select the most appropriate option to fill in blank number 1.
A. could
B. would
C. should
D. can

22. Select the most appropriate option to fill in blank number 2.
A. so
B. as
C. nor
D. thus

23. Select the most appropriate option to fill in blank number 3.
A. from
B. farm
C. forum
D. form

24. Select the most appropriate option to fill in blank number 4.
A. confiscated
B. collected
C. concealed
D. contributed

25. Select the most appropriate option to fill in blank number 5.
A. about
B. from
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C. within
D. behind
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Answers
1. B 2A 3.C 4B 5C ©6,A 7.B 8D 9.B 10.B 11.B
12.B 13.A 14B 15B 16.D 17.C 18B 19.C 20B 21.B 22B
23.D 24.A 25.A |[Practice Exercise]‘

Explanations

1.

B) It helps in minimizing emissions from increased electricity consumption.

The passage states that Al expansion will massively increase electricity demand, and using
renewable energy will help cushion against the rise in emissions.

A) Incorrect: The passage never mentions cost reduction in building data centres.

C) Incorrect: Profitability of Al applications is discussed separately, not as a direct result of
renewable energy.

D) Incorrect: Renewable energy does not affect the speed of Al development.

A) Large-scale mining of minerals and water use.

The passage clearly says that Al technology requires large-scale mining of minerals and water
use, and produces effluents during electronics manufacturing.

B) Incorrect: Fossil fuel extraction is not directly mentioned in relation to Al.

C) Incorrect: Space debris is irrelevant here; it's not discussed.

D) Incorrect: Deforestation for Al is not mentioned in the passage.

C) 9%

The passage states that "Al expansion alone could increase electricity prices by up to 9
percent" in the U.S.

A (5%): Incorrect; the figure is higher.

B (7%): Incorrect; slightly underestimates the real value.

D (11%): Incorrect; overestimates the impact mentioned.

B) Optimistic

The passage acknowledges challenges (like energy consumption and environmental costs) but
maintains a positive outlook that these can be managed through renewable energy and
sustainable practices.

A: Incorrect The passage does not panic or exaggerate the threats; it remains calm and
measured.

C: Incorrect The passage clearly cares about sustainability and discusses it thoughtfully.

D: Incorrect While challenges are mentioned, the tone is not harsh or negative toward Al
development; it's solution-oriented.

C) Balancing Al growth with sustainable energy needs

The central message is about growing Al technology while ensuring that its energy demands
are met sustainably, using renewables and managing emissions.

A: The passage talks about Al’s benefits outweighing costs, not about economic danger.

B: There's no mention of complete failure; rather, India's cautious approach is discussed.
D: Nuclear is mentioned as one of many solutions, not the main focus.
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6.

10.

A) Sliding T use BT &ifeh "sliding" T 31 BIcT & YUaId AT T & HIhedT, ST 38
sentence H contextually TET §1 sentence H mention & & Jaeh o 379=ir pRAreldl I "skinny
Englishman” &1 31T ¥ IR 3T, SETAT 'sliding' T&f &Y &1 Dawdling ((R-¢NY e &
AL Talie aAT) $H context H ITeld g FTfeh Faitreh T H1 FHereldl 3R Aol § fram g,
o1 T efiel a1fd A1 Kindling (ST AT Ysafold &) FT 39 a9 & e H s 37 g1
STl 81 Rendering (S &¥aTT AT SatelT) 1 & 30 HeoT 7 39T i § it Fgr
Y&eIeh T I ITT 3R AgoTdT H Tlehal BT g |

Sliding is grammatically correct because it implies moving smoothly and easily, which matches

the context where the manager moves past with practiced ease. The verb aligns with the
sentence's depiction of fluid and skilled motion. Dawdling means wasting time or moving
slowly, which contradicts the quick and efficient motion described in the sentence. Kindling
refers to starting a fire or igniting something, which is irrelevant here. Rendering means to
provide or depict something, which doesn't align with the context of physical motion.

B) The correct spelling of the word in question is ‘tranquil’. It means “calm, peaceful, and free

from disturbance” in English, and “Qrd, fo:2rse, SﬂTHQﬂﬁfﬁﬂ'aﬂ"
D) Arson — Deliberately setting fire to property

The crime of setting fire to a building on purpose (E‘;Tff-WI'c\" 3T ff) ;T 3R Z?FI?-IT 3T
ST3TTe ST 3TORTET; 3TETSTAT
B) Venom (noun) — Poison, malice, spite, bitterness, hostility 91g{/ shsdlgc
Antonym: Benevolence (noun) — The quality of being kind, generous, or well-meaning,
compassion, goodwill. RIIhR

e Ambiguousness (noun): The quality of being open to more than one interpretation,

unclear, vague.31¥qsedr, AfARaddr|
e Irony (noun): The expression of one's meaning by using language that normally signifies

the opposite, sarcasm, paradox. g3, faRTET |
e Satire (noun): The use of humor, irony, or ridicule to criticize or expose. g3y |
B) absolutely best than & dcol absolutely better than T use g1 Fgifh Jelddl T & fow
"than" o T comparative degree WWT?IFIT%I Superlative degree (best) & FTY "than" T
19T 761 fohT ST FehdT| 36T8I0T o ToIT: This is better than that.

absolutely better than" will be used instead of "absolutely best than" because "than" is used

for comparison, and it requires the comparative form better instead of the superlative best. For
example: This is better than that.
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11.

12.

13.

14.

B) 'l reached his home' o TATT 9T 'l reach his home' 3T use B9 FiTeh sentece H main clause
'He will be waiting' Future Continuous Tense ﬁ%l SH YN, 3Ych ¢ 37TeT dTelT Clause Present

Indefinite Tense & gI=IT TRV example— He will be waiting for me when | reach his home.

"I reached his home" should be replaced with "I reach his home" because the main clause "He
will be waiting" is in the Future Continuous Tense, and the dependent clause introduced by
"when" should use the Present Indefinite Tense to describe a future event. For example: He will
be waiting for me when | reach his home.

B) ‘Forth' &bl use mﬂﬂﬁ? "forth" E?TB-T?ffEs'}I?ITa' " T "W?I’HTI" Sentence ﬁEIETUT?JT
¢ T ST 90 38 GEITd fohar SITaT §, 98 3197 31T & 3R 37961 THFAgRT (role) FT 37T i
o fAHTCr g1 afeT forth' TGT TET &1 ‘Role’ &7 31 gIaT ¢ "fordlT i e a1 s+ |" I8
T & 37 & T QU e & Aol WIdT § i a1 H 3Heh dhered] 1 =l g1 W & Fourth'
o1 371 & i, St 58 aTer o Hest A [9oshel SUYF 161 ¢ Falfeh arerg & Tohall shad hl Tl
Tl 81 TET 8| Roll' &7 372 § "GATAT "I AT T gehsT," ST "HUAT THFHERY folatret "oh Hedh &
e 781 81T Fourth' 3Teld & FAiTh Tg TEAT Y &2ATdT §, 31X 'Roll' ITeid § FAiTeh I Iy AT
AT Tl T A

'Forth' will be used because it means "forward" or "to emerge." The sentence indicates that

whenever she is addressed, she steps forward and performs her duties.

'Role' is correct because it means a person's responsibility or duty, aligning perfectly with the
context. 'Fourth' means "the fourth in a sequence," which does not make sense in the context
of stepping forward or emerging. 'Roll' means "to move by turning over" or refers to a
"physical object like bread roll," which does not fit the context of performing duties. 'Fourth’ is
incorrect as it denotes a sequence, and 'Roll' is irrelevant in the context of responsibilities or
duties.

A) ‘lies' & e 'lying' ST use ZIIIT FAIfF 'were' auxiliary verb § ST past continuous tense &Y
celTdY &1 Past continuous tense ® main verb present participle form # gl Ifgw, S—
"Was/were + verb-ing" | ST, "were lying on the table" H&Y gl

'lying' will be used instead of 'lies' because 'were' is an auxiliary verb that indicates past
continuous tense. In past continuous tense, the main verb must be in its present participle
form, like— "Was/were + verb-ing". Hence, "were lying on the table" is correct.

B) 'has being applying' & §cof 'has been applying' T 9TaT B9 FiTh Present Perfect
Continuous tense & auxiliary verb 'been’ T JIN3T &I %, & '‘being' hT|

has being applying' is incorrect; instead, 'has been applying' should be used because the
Present Perfect Continuous tense requires 'been’ as the auxiliary verb, not 'being'.
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15.

16.

17.

18.
19.

B) The correct spelling is Entertainment, which means "the action of providing or being
provided with amusement or enjoyment" (ﬂ?-ﬂi\_:r!?-r)

D) 'Lead' ol use ?ITITER?ITﬁ? "Lead" %Wﬁ%?ﬁmﬁmﬁm%ﬁmm
forEes & forw forar STar &1 areg & 9 Hr it & AT Hr ara sl wr g, SHTIT 'Lead' Jgr
e option &1 STafah: 'Steal' T 3727 & TRY T, S 5T TS & WF@[ 21 'Led' 'Lead' T
HAPTA &, ToTaeT 7Y § ATGLT JhAT| 'Lewd' FT 3 § 372elier AT 3=, ST 58 arag &
HeTed o781 &

'‘Lead’ will be used because it refers to the material inside a pencil tip used for writing. The
sentence talks about what the pencil tip is made of, so 'Lead’ is the correct choice. Steal' means
to take something without permission, which doesn't fit the context. 'Led' is the past tense of

'lead" meaning guided, which is not grammatically or contextually appropriate here. 'Lewd'
means indecent or obscene, which is unrelated to the sentence.

C) Depend' &hT use gham FIiTh "depend" Al k k) giar % frar I W GES giaT a1 399
JHTTA gleT| sentence H mention & foh Tehel &I el 3R SUATRAT 38 377319 3R
gareeLierdr W AR #dr g, éﬂzlﬁ-l'(r ‘depend’ el gl STafah 'credit’ T Iy %'?FITPJIFIT ST,
ST 37 &3y H Hel oTa1 g1 'Achieve' Haﬁ%?a YT AT, Afehed aTard H Ig e AgT grar
Fi e "AheId 3R SUATRAT" Ge, FHS Aecl 76T T Tehcll | 'Begin' T 3 § Y& T, S
sH T A e =gl ¢

'depend' will be used because it means to rely on something or someone. The sentence states

that the success and achievements of a school rely on its experience and resourcefulness,
making 'depend' the correct option.

'credit' means to give recognition or acknowledgment, which is irrelevant in this context of
reliance. 'achieve' means to accomplish something, which doesn't fit as the sentence is about
dependence, not achievement. 'begin' means to start, which is unsuitable because the
sentence discusses the foundation of success, not the starting point

B) Cock of the walk (Idiom) — A dominating person in a group :gtw;rm%nﬁr gfad

C) 'The most expensive' T use gram Faifeh g superlative degree % ST 37T g options p=
IH A T &2lTa & foIT AT I €1 areFT & "The Tube" &1 dlcsT & TRagT AT H g9
FIF'IT adrdr 9T %"I ZI%:[J "the" &hT ITATIT qg Hohd LT % & g superlative form F foT %,
3R Ig araT S AT O T Hﬁf SATar &1 'The expensive' &l 39T T %" Faifh I8

gamé:i%rwé’rwaﬁﬁ 'More expensive' bl use W%}?ﬂﬁﬁ?%comparaﬁve degree %},
SiY sharel & faehedl T Jolell & TlT 91T 81l &, SHfehet TgT JoreTr Heft TRageT Arereii & g1
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20.

21.

@%I'Expensive' WWW%?&T@:W positive degree %’, ﬁmgmaﬁqﬁéﬁaaﬁ
h{dr|

'The most expensive' will be used because it is the superlative degree, which is used to denote
the highest level of comparison among all options. The sentence states that "The Tube" is the
most expensive among all transport options in London, and the presence of 'the' indicates the
requirement for a superlative degree. 'The expensive' is incorrect because it is not a valid form
for comparison. 'More expensive' is incorrect because it is the comparative degree, suitable for
comparing only two options, but here, the comparison is among all transport methods.
'Expensive’ is incorrect because it is the positive degree, which does not indicate any
comparison.

B) Jeopardy (noun) — Danger, risk, hazard, peril, insecurity. (ST, ahe, W)
Antonym: Safety (noun): Meaning — The state of being safe or free from danger. (ﬂT&:IT)

e Mighty (adjective):— Strong, powerful, robust, great.2TTaa2ITell, qradarT

e Strict (adjective): Meaning — Rigid, harsh, severe, stern, rigorous. (GTO"R',

HAR/MHATCH)

e Silence (noun): Meaning — The absence of sound, quietness, stillness. (%I'iﬁf, ?Fﬁo_-r)
B) ‘Would' 3T use §IITT &Fifeh 'would' T 379 § 37 & ST IT IR-gR T AT arell fsham|
sentence # mention & foh STeT &Y 3eTehl S Tehcll A, ST AT SoTehT ATH YehRd &| I Ueh
3Teet oY &RATAT 8, 3R 'would' 58 Hesl H T SUYFl | 3GTEXUT: Whenever he came to the
village, children would run to greet him. Could' T 31 § WHIAT AT &THT, ﬁsﬂﬁﬁaﬁ'ﬁﬂﬁ
o1 ¢ FiTeh T 37cilcl ohl JHTecT T Soeld oT61 Sl Should' T 3 § Feled AT JHTE, i 36
Hesh A IUYed 6T & Fiich arerg fohdll HelTg AT TG ehell o IR H 6T &1 Can' ST 3T
TAATS &TAAT AT HTATA & fAT AT B, S Tl 91Tt & Fifer Tg foma 3rchiay # g o

'"Would' will be used because it indicates a habitual or repeated action in the past. The
sentence describes how people regularly shouted his name whenever his car stopped, which

makes "would" the most appropriate choice to convey this repeated past behavior. Example:
Whenever he visited the market, the shopkeepers would greet him warmly.

Could" means possibility or ability, which doesn’t fit here as the sentence describes a habitual
past action, not a possibility. "Should" implies obligation or recommendation, which is out of
context since the sentence does not suggest any duty or advice. "Can" expresses present
ability or permission, which is incorrect because the sentence refers to a past habitual action,
not a present situation.
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22.

23.

24.

25.

B) ‘As' &l use g9 Fifh "as" W&Tﬁ?l?ﬂ% "SI AT "ﬁ@é’l’l" sentence H mention g o oflaT
WW@W?WwaveﬁTsmile W%,sﬂﬁ'@'asﬂﬁwgl Safeh 'so' T ITE
"sgTerT ST RO geifer o forw 3uteT giar § 31 J8T is IR 18T &1 'Nor' &I 3T & "
&," I ASPRIcHSD TR o [T 3TN &I &, 31X 'Thus' &7 37T § "9 ThR," ST ot 3R
gRome & fov 3gaergrar g ﬁﬂﬁcontext%ﬁ@'ﬂﬁﬂﬁ%l

'‘As' will be used because it means "when" or "while." The sentence mentions that people

waved and smiled as he passed by, making 'as' appropriate. Whereas, 'so' means "therefore,"
which is used to show consequence, 'nor' means "neither," used for negative contexts, and
'thus' means "therefore," which indicates a conclusion. These options don’t fit the context.

D) 'Form' T YIT 3T &FiTeh TgT I HG H TR HRIYUMCN H glet arell ST a3t 3R
ST Y =TT ETT@'%I "dealing withany 3 of Governmental red tape" & "form"
oG, TRHRT TFhAT3T AR GEATdSIaoT Sl Il &l Hafed Xl &, ford IHAAR T 'red
tape' & & H SATAT SATAT B |

'Form' should be used because in the entire context, the passage discusses the complexities
and obstacles in governmental procedures. In "dealing withany __ 3 of Governmental

red tape," the word 'form' refers to the layers of government processes and documentation,
commonly known as 'red tape'. The other options do not make sense in this context.

A) Confiscated' T use B9 Fifeh ST 7Y g fopar axg Ea) aﬁw@m STed hAT|
sentence & mention & fob e IR & o 31 3/ d{-gldﬁ grel ATHAT T STed T
o o, WWW?%?WW%I sgfaIT, 'confiscated' TBT T 3R & | SaTh
'collected' aT 379 %’ Schcol hidl, 'concealed' shl Y % %Cﬂ?-lT, 3R 'contributed' T 37 %}
ATETST ST, S 56 3T 7 3Tl oTel |

'Confiscated' will be used because it means to seize something officially, often by authority.
The sentence explains that the Customs had seized the cases containing linen and other items,

claiming them to be merchandise. Thus, 'confiscated' fits the context. In contrast, 'collected'
means gathered, 'concealed' means hidden, and 'contributed' means to give or donate, none
of which align with the context of the sentence.

A) About" T use B9 FAifah "about" T 37 giar & fordr AT ar Riar =1 saea =]
sentence § mention %ﬁ?ﬁﬁmaﬁwﬁftﬁm%aﬁﬁmfﬂm
'about' TgT TgY &1 STdfh: "From" &7 37 § AT A1 39, W%ﬁaﬁﬁwaﬁgl "Within"
o1 3719 & fodlt <t & 3ie, St JeT Aoy o aR & el o T 3ugered =781 &1 "Behind" [&ufey
T ST I T HIdT &, i 5T &7 7 fhe 8T g
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"About" will be used because it means to express a topic or concern. The sentence explains
that Mother informed Spiro about the cases stuck in Customs, making "about" appropriate
here. Whereas: "From" implies source or origin, which is not suitable in this context. "Within"
means inside something, which doesn’t fit the context of discussing the cases. "Behind" refers

to position or cause, which is irrelevant here.
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